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Math12 Honors: HW 3.3 Solvirig Problems and Equations with Polynomial Functions
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5. Solve for the roots of the following polynomial functions:
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Q-0  focwr. @)
o 3 -6 -«
g .28 _ug

CF s 0
vy =(o0-4) (Ao \2)

L@)L“'%(f“) .
Koon‘, Aen)LH,0 ,-m,'O ’—M(O 7,
Koot ) 4,0) £20)(4.9)

——i

b) 6x° —13x* +4=0
Ha)=0

¢ -3 0 Y

S R -9 q

(1 —l;_Q} Q .

ol o)
Y= (-0 (Y222

Ko )-60,9) (519) (35) )%

¢) 3x" =5x*+x+5=0

\(‘( 0 el (om;/

P

d)u,t =x'4+3x-6=0
Ros

uASacaomef -

Rooxs - (Xen=( 1.4 ,0)
ro Oohr el oo

8 ¢ +x*—8x—12=0

H-2=0

f 65" +11x" —dx-4=0

§-9)-0

-QL—R —\0 216 I -2
V2.2 12 \\, o 2 Y
6" o g' A7 050
A= (%Jra\(m ) 0= Z*’l\(é” -9)
- ,K ) (,L 3) 9= ) 2a) 32 () B
i’) (’}H' \( QD% RDM (’X .0) GQ_'O‘)/ ’l’o [2?/0) /
g)x +3x +3x+1 343 h) ¥ =5x +10x° =10x2 + 5x -2 =31
(o +1) x S St 4(0a? Dot S~ | =’BQ
fea0)’s s AR LY
A+l F A ~|=0
A=
-(6:0)
(o2

All Rights Reserved at Homework Depot at www.BCMath.ca




6.

a) f(x)=2x"-3x> ~8x+12

Find the relative max and min for each of the following cubic functions
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A piece of card board is 40meters by SOmeters//Four squares are cut out from the corners to create a bak.

What is the largest possible volume of a box that can be created from the piece of cardboard? The top side is
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9. Giventhat x* —4, x* —2x, and x* + x — 2 are all factors of the polynomial y = f
p055|ble degree of the polynomial? What is the equation?
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10. The polynomial f(.x)satisfies the equation f(x)~ f (x — 2)=(2x-1 )2 for all “x”. If “p” and “g” are the )

coefficients of x* and x, respectively, in f(x), then what is the value of p+¢?
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14. Challenge: Let “a”, “b”, and “c¢” be the roots of the cubic equation x° +3x” —1=0. Write down a CUbIC
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